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o 300
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402 SI2FXHE0| & 1,411,649 1,098,574 313,075
= 705,824
=} 209,340
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— 22U I3 D1 (75ha) 130, 162
= 65,081
= 19,524
Al 45 557
— O 2ILFR I3 D1 (70ha) 121,497
= 60,748
& 18,224
Al 42,525
— Z& X1 DI (670ha) 1,159,990
= 579,995
o=} 171,592
Al 408,403
OIMSHANHZ =130 813,600 813,600 0
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S 850
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01 Al& H| 160,500 87,000 73,500
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= 10,170
Al 23,730
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Al 23,730
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= 22,600
= 10,170
Al 23,730
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— &2 Ro2ZAISHH 2 | X242 (20) 4,000
= 1,600
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— Y224y 73,2802 *1.501+332 <14 50,784
- R38YaR4g
73,2803 %2 . 5H 9L x14H 23,084
—NoERLY
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 6,000 6,000 0
OEBES M&E L MEES 6,000
= 3,000
< 900
Al 2,100
405 XtaHH S| 5,002 3,240 1,852
= 2,546
< 764
Al 1,782
01 AL EFH S 5,092 3,240 1,852
OYHMEHI(JIHES S 400) 5,092
= 2,546
< 764
Al 1,782
Hes8 Olsts 65,670 63,031 2,639
= 32,835
< 9,851
Al 22,984
101 @14 Hl 65,670 63,031 2,639
= 32,835
< 9,851
Al 22,984
04 JIZHHZ22XREES 65,670 63,031 2,639
OMEEY 0lst=522(3Y) 65,052
= 32,526
< 9,758
Al 22,768
O0lst=sed I=4| 618
= 309
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Al 216
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< 14,260
Al 33,271
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= 39,430
= 10,660
Al 24,871
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= 1,500
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Al 1,050
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= 1,500
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Al 1,050
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= 10,500
< 3,150
Al 7,350
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< 3,150
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Al 1,663,970
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= 70,000
= 9,000
Al 21,000
01 At 22l 100,000 100,000 0
Ogxz 100,000
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= 36,400
< 4,680
Al 10,920
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= 22,400
< 2,880
Al 6,720
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—Jlzs 80,0003 x150& «10€& 120,000
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OMEEY S2YH %A 40,000
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SN MESXD
Hu: MANASA
Sl MEBY=MBIATY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 8,757
Al 20,434
401 AlEHIZL £ 0HY| 31,716 25,132 6,584
2 2,525
&< 8,757
Al 20,434
01 Al&H| 31,716 25,132 6,584
OBs4 HH & SI22 26,666
& 8,000
Al 18,666
OEBs4 & 8¢ 2 HY 5,050
= 2,525
& 757
Al 1,768
S HS 22 382,634 93,071 289,563
101 Q124 H| 16,634 14,651 1,983
04 JI2ZtHIZ22NEES 16,634 14,651 1,983
OHs & B4 22 16,634
- J=2 73,2802 %170 x1H 12,458
— FIFE 73,280& x34L x1H 2,492
— X" 73,280 8L x1H 587
— HEZ25Y 73,280 *8H x1H 587
— 2HAIH| 3,000@*x1702L x1H 510
201 et d| 2,000 2,000 0
01 AR 22l ] 2,000 2,000 0
Ogttf=2y| 2,000
— LY ESs 22 SE(HMSE, T2
s) 2,000
206 TH 2 Hl 3,000 3,000 0
01 X2 H| 3,000 3,000 0
OLN4E ¥ B4 MHWad 3,000
— LHx2YES 22 ANMM(AXNS, 2ES
) 3,000
401 Al HI L £ 0HHI 361,000 73,420 287,580
01 Al&EH| 361,000 73,420 287,580
OES4+ &AH & dals &H 60,000
OXFXES AKX EHel 10,000
oxesg 22(EHI S, 4ha) 11,000
OMEsE M=sH A 280,000
=2 & 932,611 394,726 537,885
101 Q124 H] 50,811 15,426 35,385
04 JI2ZtHIZ22NEES 50,811 15,426 35,385
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Sl MEBY=MBIATY (B9 ®R)
M. o (BH) - HSAY - BAS il HDS2
O=Z 34l & ((2¥) 34,639
A== 73,2803 179 »2H 26,235
- =X 73,280& x34 x2H 4,984
— X 73,2803 x8L x2H 1,173
- HE=s5d 73,2803 x8L x2H 1,173
— 2tAH| 3,000& x179 x2H 1,074
OS2 sH&A 22| (4HA) 16,172
— Jlgs~12g, F13)
73,2803 x53 x4 15,536
— 2tAIHI(1~128€, F=18]) 3,000& 53! x4 636
201 LEt2 Y| 18,800 18,800 0
02 332494l 18,800 18,800 0
O332=2 % HA 10,800
— Sitz F&EA, HIE0|D] § HIRS 10,800
OA& &Hl S XY 8,000
— SHZ2 AMAEH SX(HXEOII S) 4,000
— stz stEA AEEH 74X 4,000
206 I = bl 3,000 3,000 0
01 X2 bl 3,000 3,000 0
OS¢z B4 IM(2E 28 ,03S) 3,000
401 Al HI YL 2 0HHI 860,000 357,500 502,500
01 Al &I 860,000 357,500 502,500
OANMUZRHAYE Satgz bl 50,000
085S MESH U AXE SHE 24 30,000
OgdxeE ¥ =34 EHIDI(28]) 40,000
Osdz 3 34 € 24 100,000
OS&Z EHI L MXEH(SHS) 40,000
OsY s M3 &X 300,000
OS&NZ EXE(A) HBlAY 300,000
FUXH Do (H2)(HBAY) 300,000 318,000 A 18,000
& 195,000
Al 105,000
401 Al HI YL 2 0HHI 300,000 318,000 A 18,000
& 195,000
Al 105,000
01 A& HI 300,000 318,000 A 18,000
OSA&Z HUIAFY (10km) (M &) 300,000
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Al 105,000
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401 AlEHI R 2 OhYI 500,000 0 500,000
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OUEFSAMNE 2SS
100, 000& *2A| 2t 2 H x53| 2,000
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B O (S0) - NRAY - HES il
—522fE 73,2803 *1.5x 152 x4H 6,596
< 3,298
Al 3,298
—=X=g 73,2803 x34 x4 9,967
< 4,983
Al 4,984
— XY 73,2803 x8 x4 H 2,345
< 1,173
Al 1,172
—g3=s< 73,280& x9 x4 H 2,639
< 1,319
Al 1,320
OZg=d Helo2(2gadd o4 o 23
) 15,648
= 73,2803 x43 x3H 9,454
< 4,727
Al 4,727
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